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b R C 18.0 24.0 28.0 24.0 32.0 31.0 23.0 12.0 10.0 5.0 4.0 16.0
TR KR C 12.0 17.0 21.0 21.0 27.0 25.0 21.0 13.0 11.0 5.0 7.0 11.0
RS mg,/1 0.30 0.30 0.30 0.40 0.20 0.40 0.30 0.40 0.30 0.30 0.50 0.30
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WA K O DILEY) mg/1 <0.0003
i KEEK OZFDILEW mg,| <0.00005
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" LE KL OZDILED mg,/1 <0.001
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11 %]fyﬁﬂ:%gﬁ/ mg,/1 <0.001 <0.001 <0.001 <0.001
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S VT N mg,/1 =0.06 0.016 0.018 0.009 0.007
LV unErmE mg/1 =0.03 0.006 0.004 0.003 <0.003
;?J‘ V7 aRyunpiy mg1 =0.1 <0.01 <0.01 <0.01 <0.01
“‘i CEd A mg,/1 =0.01 <0.001 <0.001 <0.001 <0.001
o N mg,1 =0.1 0.02 0.02 0.02 <0.01
w SYEEEA mg,/1 =0.03 0.008 0.005 0.004 <0.003
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&y B OZEDILEY mg/1 =0.05 <0.005
k| At mg,/1 =200 1.6 1.9 1.7 1.7 1.8 1.9 1.8 1.6 1.8 1.7 2.4 1.8
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i - I TR mg?l =500 100
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T PHIE 5.8=8.6 7.7 7.8 7.8 7.5 7.7 7.4 7.7 7.6 7.5 7.6 7.3 7.5
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